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import random

print(‘ARE T BRI B BT AR REHTHE N RS AR ARG TH)

play=eval(input('FriZ6E BB 5 BEESREE1% 1 BERAEETZ 0 1)
if play==1:
print()
HE TR — @RS &y 1 & 38 5% » {H range(start, end)y end N EEFIEN - #5 39
numl=random.sample(range(1,39),6)
num2=random.randint(1,8)
numl=sorted(num1)
print(‘fZ I EEAKBESRAE R AV — & /S ESRIE ¢ ,numl)
print("EE A5 H AV EE & (FFR157) 95852 © ,num?2)

print()
i=eval(input('fEAETTIE LRS54 1> BEREETZ 0 1)
if i==1:

print()

num3=random.sample(range(1,39),6)
numd4=random.randint(1,8)

num3=sorted(num3)

print("ARZE IR (B FIEE - SB—ESEFEIE ¢ ,num3)
print('25 & (FFAl5R) 9552 © ,num4)

sl=set(num1l)

s2=set(num3)

num5=len(list(s1.intersection(s2)))

if (num2==num4) and num5==1:

print(‘FS B - BXRGERESE » $%<5 100 7T - )
elif (num2!=num4) and num5==3:

print('JS§E > BEBXISEAEE - 454 100 7T © ')
elif (hum2==num4) and num5==2:

print(‘F8 =% - EXAFEHIEE - £ 200 7T < )
elif (hum2==num4) and num5==3:

print(‘F8 =% - EXAFFIZESE » $55 400 7T < )
elif (num2!=num4) and num5==4:

print(‘F8 =% - EXAFFFESE - $%55 800 7T < )
elif (hum2==num4) and num5==4:

print(‘FS 1 - BEXGENLEE - %5 4,000 T © )
elif (num2!=num4) and num5==5:

print(‘FS B - EXAGE(ESE - £ 20,000 7T - )
elif (hum2==num4) and num5==5:

print(‘F8 =% - EXFFEIS4E > %<5 150,000 7T < )



elif (num2!=num4) and num5==6:

print(‘FS =5 - BEXAFEEAE - $55:55,555,5557T < )
elif (hum2==num4) and num5==6:

print(‘A& =1 > BIAF TS - £555,555,555,5857T ')
else:

print(‘TRHIH > EEICIA - )
print()
print("##H THE Az 1)

print()
print('FHEHEFHATEZC 1)



